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QUESTION 1

What needs to be enabled for the Explicit HTTP service to be able to hand off SSL traffic? (Choose the best answer.)
A. Early Intercept

B. Detect Protocol

C. Port 443

D. Enable ADN

Correct Answer: B

QUESTION 2

What best describes SGOS? (Choose the best answer.)
A. Itis Linux-based

B. It is a custom-built operating system

C. It is a Symantec proprietary implementation of Unix
D. It is Windows-based

Correct Answer: B

QUESTION 3

How does the ProxySG handle a rule that contains a syntax error when the ProxySG processes installed policy as part
of a client transaction? (Choose the best answer.)

A. The ProxySG changes the transaction status to Deny and makes an entry in the event log

B. The ProxySG stops processing of the layer containing the rule and continues with the next layer, if any
C. This is NOT possible; rules with syntax errors are unable to be installed.

D. The ProxySG skips the rule and does NOT change the accept or deny status of the transaction

Correct Answer: A

QUESTION 4
Which two (2) environments will IP surrogate credentials NOT work in? (Choose two.)

A. With devices that use Network Address Translation



B. Out-of-path deployments

C. Transparent deployments

D. Explicit deployments

E. Multi-user environments such as Citrix

Correct Answer: AE

QUESTION 5

Which process should never be configured on external DNS servers? (Choose the best answer.)
A. Bypass the ProxySG\\'s cache

B. Use DNS imputing

C. Perform lookups on internal servers

D. Perform reverse DNS lookups

Correct Answer: B

QUESTION 6

In which caching technique are objects that require more server-side bandwidth and response time less likely to be
deleted from the cache? (Choose the best answer.)

A. Round robin

B. Cost-based deletion

C. Popularity contest

D. Asynchronous adaptive refresh

Correct Answer: D

QUESTION 7

How can an administrator determine the serial number of the ProxySG in the Management Console? (Choose the best
answer.)

A. This information is not visible from the Management Console
B. Go to Statistics > Advanced
C. Go to Configuration > Network

D. The serial number is contained in the top right Management Console banner



Correct Answer: D

QUESTION 8

What are the building blocks of conditions when building policies in CPL? (Choose the best answer.)
A. Triggers

B. Properties

C. Rules

D. Layers

Correct Answer: D

QUESTION 9

Which two (2) items are considered external dependencies? (Choose two.)
A. Policy

B. DNS

C.CPU

D. Authentication

E. Memory

Correct Answer: BD

QUESTION 10

What is the primary benefit of using Integrated Windows Authentication (IWA) authentication realms? (Choose the best
answer.)

A. Single sign-on experience for users

B. Better performance by using NTLM credentials
C. Ability to use Kerberos credentials

D. Greater security than LDAP

Correct Answer: A

QUESTION 11



When are software workers created during an interaction between a ProxySG and a client requesting a webpage?
(Choose the best answer.)

A. At the ProxySG\\'s initial configuration

B. When SGOS receives a connection request

C. When the ProxySG first boots up

D. When a transaction request must be fulfilled from the Internet rather than from the cache

Correct Answer: B

QUESTION 12

What is a series of sysinfo files gathered at periodic intervals called? (Choose the best answer.)
A. Core image dump

B. Event logs

C. Snapshot

D. Minicontext

Correct Answer: C
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